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forder-
1. Joft yed &cT dbeerm aiferart 21

2. BHAIG 1 F 5 AP aglerss Ued 21 Uld axgferse 01 3id I wed
& 3k AT gerfu @ 2|
3. Ul PBHIB 6 A 15, UAdb Ul 2 3feh, orsd AAT 30 o |
4. Ul PP 16 A 19, U Ul 3 3, ag AHAT 75 o]
5. U9 PBAHIB 20 A 23, UAD U 4 3ic, @ AT 120 2K |
6. U9l FAIH 6 A 23 db JM A 3idRew fawew 21
7. ATAEHAD UeeAT & oI W B dEe & &
Instructions-
1. All questions are compulsory to solve.
2. Questions no.1 to 5 are objective type questions. Each objective carries 01 mark.
Marks of each question are given before the question.
Question no. 6 to 15, each question 02 marks, word limit 30 words.
Question no. 16 to 19, each question 03 marks, word limit 75 words.

Question no. 20 to 23, each equation 04 marks, word limit 120 words.

Question no. 6 to 23 have internal options.

N gk W

There is no limit of words in numerical questions.
.1 ﬂ??f famea gase fafaw |
Select the correct answer of the following 1x6=6
1. AAINT B 39T H APER g1 T oY 3RU U SFTel AT S dar 2-
3. 4% Ufaay & 5% Ufaay A, 6% Ulqay & 8%Ufaay

In the absence of agreement, interest is given on loan by the partner-

a4% P.A. b.5% P.A. c.6% P.A. d.8%P.A.
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2. AR JH AR fHam sier-
31, afferard 2 3. URew 2
. afera: siferant 2 T, 3MAEeTD &

Preparation of partnership deed is-

a. compulsory b. optional
c. partly compulsory d. un-necessary

3. AR B enagduid & uRader W Afafet @1 fasmster grar 2-
31. gdargurd I, AHAS IGUd H
A, T Irgurad H q. Yol & 3rgura #
At the time of change in profit sharing ratio, the reserve are distributed in-
a. previous ratio b. equal ratio
c. new ratio d. capital ratio

4. Yolt Ja & 3nfdes fued o fha ofives & siedela femmem smuon-
3. 9l aTicd g. fafder <=
A, 30T Yot q. doa ud anfge

Under which heading of balance sheet is capital reserve shown -
a. current liabilities b. miscellaneous expenditure

c. share capital d. reserve and surplus

5. 3Mcel dcT MU Elell TAIMETE?
3. 1:2 q. 2:1 A. 141 Q. 2:2
Ideal liquid ratio should be?

a.1:2 b. 2:1 c. 1:1 d.2:2
6. Abs UdTs TR B Addg H Dl AT Siba GAT 272
3. AS-3 q. AS6 A. AS-1 T.AS7

Cash flow statement is related to which accounting standard ?

a. AS-3 b. AS-6 c. AS-1 d. AS-7
U2 Raa emar & gid sifer |
Fill in the blanks 1x6=6
1. THE BA BT Usfe ... 2l

The registration of partnership firm is
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9.3

3. FAMT TF oo JFfed B
Goodwill is an asset

4. GAHGHTBA JTAT TH oo Jar 2 |
Revaluation account is a account.

5. BUell MATTTH 2013 P FgAR RAfT fTae0T B SR oo
® AR AT ol 2 |

As per Companies Act 2013 the balance sheet is prepared according to

schedule
6. o fIus & RIes & oo ofifes & corfam sirar 2
Bills payable is shown in the heading of balance sheet.

A/3A H 3iar U |
Answer the following in true or false 1x6=6

1. AP ®BH F ARt sifdfermd 1986 WP BT B

The provision of partnership act 1986 is applicable in partnership firm.
2. G UIRA a1 3fer, TRft ARER & FTeluId &l 3ieT & |
Gaining ratio is a part of sacrificing partner’s ratio.
3. Yeldicaichel WAl AFT B [T R q&ard B
Revaluation account is prepared on sale of assets.
4. A, B3R CHAM 3:2:1 B 3NgUid # APER 21 Bfegad &ar & A1
derm Cl oI 3igurd 3:1 AT |
A, B, C are partner in the ratio of 3:2:1 respectively, B retires. The new ratio of A

& C will be 3:1.
5. B & acd 3R JRDER & fucea & B 3idT @& B

There is no difference between the dissolution of firm and dissolution of

partnership.
6. U fausii @t are] Jeufed ofives & Rzmem omar 2

Bills receivables are shown under the heading of current assets.
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U4 TS SIS TeIrsy | 1x7=7
31 q

1. JAfaa et a. Goilord ofred
2. 3fell PT omera b. USe & oo ST
3. ude e ferzra c. Yoitord  &ifef
4. 3Md 3ffdETe d. BT BT HHATUA
5. 0T UA ¥ W e. QNe YANBR 3ieT
6. 3RUT USIEMRY f. Ul Bl STETRITEAT
7. OGS & fofoldiel W @kt g MU 3Tdcd

h. faedter fere=or
Match the columns

A B

1. Reserved capital a. Capital gain
2. Redemption of shares b. No right in management
3. Memorandum of association c. Capital loss
4. Over subscription d. Winding up of company
5. Premium on debentures e. Redeemable preference shares
6. Debenture holder f. Base of the company
7. Discount on issue of debenture g. Proportionate allotment

h. Financial Statement

U.5 T q€ A 3R foe

Answer the following in one word. 1x7=7

1. Yot Imar e sifqar 9u yfad aeerar J&ar 2, 33 T BEd B 9
What is called the capital a/c of which the closing balance changes every year?
2. FMA & HAcAhel B IR T & ?
What is the basis of valuation of goodwill?

3. AEER &t fogfed & =it ve @R @& faRae |

Write one reason for retirement of a partner.
4. AT B JAATT & O UT AR &7 fJaee daarar & ?
Dissolution of firm due to expiry of time is called?

5. Bl B oA B oS B bl A Mds # zmear ovar g2

In which heading of balance sheet profit of the company shown according to

schedule.
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U.6

u.7

U.8

v.9

6. fpell fofdga fafr e =aara & anf¥e Rafd & gbe @ o
fereRor &1 e AfGu |

Name the statement which discloses the financial position of a business on a

particular date.
7. “UEBT A U Abs”’ e At Baral Br Abe yas 9

What type of activity of cash flow is receipt of cash from customers?
ADEHT JTH A =T 39T 2 ? 2
What is partnership deed?

34T

AR & e faovdard aarsy |
Describe two characteristics of partnership.
AR & fergfed A @@ Mo 2 2 2
what is meant by retirement of partner?

aferdr
A, B 3RC 211 ® 3guid A cna gifer faanfog aea arer Ider € o
STHETTT 37eUTd @t a1vrelm HifoTe afe C ferged glar 2 |

A, B and C are partners sharing profit in the ratio of 2:1:1. Calculate new profit and

loss ratio if c retires.
JAIT BT BF B Eed IF @RI SN B ? 2
What is meant by dissolution of firm by agreement.

31dr
3 WAt & aH A o aeht I F eneaiaRa @l B o B e
Name the accounts which are not transferred to the realisation account.
sferpa golt 64 wad 28 2 2
What is authorized capital?

31dr

3IH I A MU T FAIA 2

What do you understand by calls in advance?
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.10

FHAT 3T Bl Bls & fGRIvary Farsd | 2
Mention any two characteristics of equity share.

31Adr
3ielt @1 AFAcT W ferofarer I @@ 3ref B9

What is meant by issue of share at par ?

Uh Bl o 50,000 AAAT 3797 10/, Ul 39T &Pl g3 A ST
T reqet A1 amdes uF & AT U §3 | AGA FEl A STAeAF Uidne
HITTT | 2

A company issued 50,000 equity share at the rate of Rs. 10 each. Full amount of

these shares received with application. Pass necessary journal entry.

31Idr
gfterfa difdar &1 sueior fba-fbar wrif & fow fopemr o Awar 22
@< an)
For what purpose the security premium can be used? (any two)
3ol B U1 A AU =T AAId B ? 2

What do you understand by forfeiture of share?
31dr
T o 5 o i gee W gafforfdd 5 o Jea B2 Ik & ar
5T AT w2
Can forfeited share be re issued at discount? if so, at what price?
HRd fafdcs o aotet A 90,000%. & Ffa IRIE!, foradr ot
100 . el 11% 7K1 U & fofoldel gRT ThaT AT | 3MAeAF bl Fal
gfaie Hifer | 2

Bharat limited purchased a machinery from Bajaj for Rs. 90,000 purchase

consideration is paid by issuing 11% debenture Rs. 100 each Give necessary journal

entry.
31IdT
uRaderefica sRoT U @RI B ?
What are convertible debentures?
6
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U.14 foree J@emsit A k0T AAAT FUIT S Hifo | 2

3iergeit 1,00,000%.
ATHATT AT 40,000%.
11% 3ROTaST 70,000%.

From the following information calculate the debt equity ratio.

Share capital Rs. 1,00,000

General reserve Rs. 40,000

11% debenture Rs. 70,000
31dr

3rgurd faecioor & & IuAT AdTSY |
State any two uses of ratio analysis.
Adbs Jod A T 3T & ? 2
What is meant by cash equivalent.
31edT
Farerer fpemsit F @@ smerr B 7

What is meant by operating activities?

P, Q3R R 10 auf ¥ UF @MUR & JPR 21 I FAST 3gurd A
A8l dfed &1 31 f&FFR 2022 & d AeAd §U B 1 SEdd
2023 A TG & BRY R 1/5 S oo | APER AeAd & [ =i
H HT 6,000%. B | Feiel glafte dfor | 3

P, Q, R have been in business for ten years. They have shared profit-loss equally.
On 313t Dec. 2022 they agree that R will take a 1/5 share of profits from 1st January
2023, because of old age. Partners agree that the goodwill should be valued at Rs.
6,000. Give journal entry.

3dr
AAT ol Ud 3iferes 3 3idw aasu |

Write difference between normal profit and super profit.

7
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T.17 99 TR B bl A FH 3ifPBR urd & B ?

What are the main rights acquired by a new partner?

arerar
3ﬁﬁaz@amﬁﬁWQnga§%3@wﬁWﬂ%ﬂﬁﬁaﬂﬁ
21 3w Riger g9 UbR 2-

3 2
Ankit and Rahul are partners sharing profit in the ratio of S and S respectively.

Their balance sheet is as follows:

ﬁl@[ Balance Sheet

2RI Liabilities Amount JFafed Assets Amount

TER Creditors 25,000 | ABS Cash 5,000
gSft 3ma Capital A/ c 1,15,000 | Gel&RR Debtor 25,000

3ifhd  Ankit - 80,000 HeRIT-ITT Reserve 5,000 20,000

AEET Rahul-35,000 Ibeel Stock 35,000

I3 Machinery 45,000

HIS Building 35,000

1,40,000 1,40,000

3IoBidl 3 Bl forea foiRad orat Ur Argerst & uder feam-

1. 9l BT FeT 15,000%. A TGl 2|

2. IF BN AT 10,000%. A TGl & |

3. 3[F@ 20,000, AN B Q|

4. 3 T F o0 UG B B forg wde Yol dam
geidicThel ST FelTsy |

They admitted Aman into partnership on the following terms:

i The value of building to be increased by Rs. 15,000

ii. The value of plant to be increased by Rs. 10,000

iii. ~ Aman will give Rs. 20,000 as premium for goodwill

iv.  Aman will bring sufficient capital for getting § share in the profit.

Prepare revaluation a/c.
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.18

U.20

Ao foifdes o 100%. dret 4,000 6% 3RUT US fepildd fbd | smdea
UF W 10%. 3Mded UT 303 JoIT AT W 60%F. Ul ROUH af &2 A
AT FHorarg | Aeft AR Jem FFT ura & TF| BT H gIAd H
Sed B o BITor | 3
Sanjay Ltd, issued 4,000, 6% debentures of Rs. 100 each, payable Rs. 10 on
application, Rs. 30 on allotment and Rs. 60 per debenture on call. Assuming that all
the moneys were duly received. Draw up necessary journal entries in the books of
the company.

34T
3ieT U 3RUT U3 3 3iaR FE HIOIC |
Make difference between share and debentures?
U®h HIell & fUge & JAGT U Micd Uel &t 3R forear faRaa oAt ot
3y fper-feper oftdfapt & doffepa ol | 3
1. Joit onterer A9
2. FROTAS QMES DIV
3. 3ROT TA
4. 3 faus

How would you classify the following items in equity and liability of a company’s

balance sheet?

i Capital redemption fund
ii. Debenture sinking fund
iii. ~ Debenture

iv.  Bills payable
3rerar
facfier faecivor &t fafdresr qapeliopl &1 avier BT (@B die)

Describe the different techniques of financial analysis. (any three)

HEA IR W 5:3 B U H oA [AHTOT B gL TH A A

AYER 21 Jofat Yot FHAM 3,00,000%. TE 2,00,000% emmarﬁ

mﬁmm%ﬁs—

. Uolt ¥ & 1 2%ae B e A fHeten aifEgu |

z.zﬁ%raﬁg@amairs%aﬂmm%amm%mm‘aﬂam
1,23,000 ¥, AT| TATH-Biel Tordiotel FTdT FATSU |
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.21

U.22

Mahesh and Ramesh were partners in a firm sharing profits in the ratio of 5:3. Their

capitals were Rs. 3,00,000 and Rs. 2,00,000 respectively. The partnership deed

provided that:
i. Interest on capital should be allowed @12% per annum.
ii. A commission of 5% of net profit should be allowed to Ramesh.

The profit for the year was Rs. 1,23,000. Prepare profit and loss appropriation
account.

3rerr
et ot AT vd uRadeelia ol Jmar & 3iaT Iarsu |

Differentiate between fixed capital a/c and fluctuating capital a/c.

oA, 31 A 2019H WA A forged & orn| 37 Ga 39 doit wma
B AW 20,000%. AT| T& FARAT Pt AT 6 SADBT Jorarel 5,000% Bl
s fehedl & fopem SRem| 3@ UM Ur 5%TS comem S| Uselt
fhed 31 #d 2020 & & o ff AR 3moME aporarer ufg o 31 HH
B BT o |

W Pl APl d I Bl KU FMAT SLATSY | 4

Rajat a partner in a firm retired on 31st March 2019. On that day the balance
of his capital account was Rs. 20,000. It is arranged that this will be paid by annual
installment of Rs. 5000 each interest being charged on the outstanding balance at
5%. The first installment on 31%t march 2020 and subsequent payments were made

on 315t march each year show Rajat’s loan A/c in the books of the firm.

37Idr

oIgeT ARER B < AT B eforare ol fafdes fafe=at or Jagme |
Discuss the different methods of payments of amount due to a retired partner.

Uh Bl of 3000 JAHAAT 3T 10 ¥ dlal 20 Ulderd Wi W

foroffara fopr | srger foras w200 3fer &, o 3% Ul sir & @@ A
sifeqst arer @t AR BT AT Bt fhar R IAD BN BT BT B
form oram | Jelt gRa siel & 12% Uld 3fer @t @@ A Gel: foildad &2
f=m orem ) &R @ 3@ ge: fopfaa ¥ Fdfta ufifesdt wifsw 4
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U.23

A company issued 3000 equity shares of Rs. 10 each at a premium of 20%. The final
call of Rs. 3 was not paid by Anuj who holds 200 shares and his shares were
forfeited. All forfeited shares were reissued at Rs. 12 per share. Journalise the
forfeiture and reissue of shares.

34T
qaiferpe 3ien & Tafdres bRl &l AAATSY |
Explain the various types of preference shares.

forgarfeiRad J@enmstt A iy fEmsh J Aws gae &f avEer sifee-

From the following information calculate cash flow statement from financing

activities. 4
.

& Prefiel RUT-Long term Loans (1.4.2022) 3,00,000

& Breflel KU -Long term loans (31.3.2023) 3,75,000

q¥ & TR BFell of 1,50,000 H & K0T Bl Gersjorarel [ma |

During the year the company repaid a loan of Rs. 1,50,000.
34T

A Uarg faaver &t MU adrsd |

Explain the limitation of cash flow statement.
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